English

Class : X

Time : 3 hrs









Marks : 100

This paper consists of four sections

Section A- Reading 20 marks

Section B- Writing 30 marks

Section C- Grammar 20 marks

Section D- Literature 30 marks

Instructions:

1. Attempt all questions.

2. Do not write anything in the question paper.

3. All the answers must be correctly numbered as in the question paper and written

in the answer sheet provided to you.

4. Ensure that questions for each section are answered together.

5. Read each question carefully and follow the instructions.

6. Strictly adhere to the word limit given with each question. Marks will be deducted

for exceeding the word limit.




Section – A (Reading)

A1.
Read the following poem carefully.





  (8 marks)


                      A GREEN CORNFIELD

The earth was green, the sky was blue;


I saw and heard one sunny morn


A skylark hang between the two,



A singing speck above the corn.


A stage below in gay accord,



White butterflies danced on wing,


And still the singing skylark soared,



And silent sank and soared to sing.


The cornfield stretched a tender green



To right and left beside my walks;


I knew he had a nest unseen



Somewhere among the million stalks.


And as I paused to hear his song



While swift the sunny moments slid,


Perhaps his mate sat listening long,



And listened longer than I did.

A1.1.
Read the following summary. Complete it by writing the missing word against the 
correct blank number in your answer sheet:


(½x10=5 marks)

The poet’s intense (a) ________ for nature is (b) ________________ in the poem. She looked (c) ___________ from a cornfield and saw a (d) ____________ soaring in the sky and (e) ___________. The butterflies (f) ___________ about in the cornfield. The poet knew that the skylark’s (g) __________ was hidden (h) __________ the stalks. She (i) ___________ that its (j) __________ too was listening intently to the song.
A1.2.
Complete the following statements on the basis of your reading of the poem. Write 
your answers in the answer sheet against the correct blank numbers.  (1x3=3 marks)

(a) The colours mentioned in the poem are _______________________.
(b) One sunny morning, the poet _________________________________.
(c) The phrase ‘gay accord’ in the second stanza means _______________________.
A2.
Read the passage given below: 





(12 marks)
1. Why is it that there are very few women players in our orchestras? If one could reply flatly – sex discrimination: they don’t want women in orchestras – that would be a definite answer. But one can’t say that. As a matter of fact there are, if not many, a few women playing today in symphony orchestras. Nevertheless, it is true that male orchestral players are in an overwhelming majority. Why is that? I’m afraid; there is no one to answer. There are physical reasons why women don’t perform well on certain instruments. The average woman is not likely to possess sufficient lung power and sheer muscular strength to play the tuba just as an average woman’s hands are not likely to be large enough to finger a double bass satisfactorily. But what about the other instruments?
2. I think social and family pressures have been very strong in keeping women out of orchestras. Think of the prejudice that existed half a century ago against the so called ‘nice’ girls going on stage. The stage was won out for the simple reason that it had to have women more to play feminine roles in plays and operas, and was willing to offer a young woman more money than she could make in any other profession. Moreover, on stage, she was appearing an as individual, as a centre of attraction. This was gratifying to both her and her family. To this day, while the average parents are reconciled to seeing their daughter become an opera singer or concert artist, they don’t like the idea of seeing her submerging her personality to become the member of a chorus of the orchestra.
3. Another reason why we have so few women orchestral musicians is that so few of them play wind instruments well enough. They don’t play well enough because they haven’t had the proper training; and the reason for that lies in the history of orchestral music. You will find that famous European families of bassoon players or clarinetists taught their sons to play the family instrument. Their sons; but never their daughters. If they had any other pupils, those were also boys; not girls. And to this day, while women vote, hold public office and practice many other professions, without shocking our sensibilities, in this particular field, the orchestra, our attitude towards women still remains the same.
4. However, this prejudice is rapidly crumbling, and is likely to disappear entirely in a few years. For this we have to thank our high-school bands and orchestras, which offer instruction, practice, and experience in playing all orchestral instruments to boys and girls alike.
A2.1.
Complete the following sentences. Write the answers in your answer sheet against 


the correct blank number:





(1x8=8 marks)

1. The reasons why there are only very few women orchestra players – 

(a) Physical reasons

(i) __________________________________________________________________

(ii) __________________________________________________________________

(b) Social reasons

(i) __________________________________________________________________

(ii) __________________________________________________________________

(c) Women won out on stage because

(i) __________________________________________________________________

(ii) __________________________________________________________________

2. The high school bands have to be thanked because __________________________________


     ___________________________________________________________________________

3. Lack of training has resulted in __________________________________________________

A2.2.
Find words from the passage which means the same as the phrases given below. 


Write your answers in the answer sheet against the correct blank number:












(1x4=4 marks)

(a) make a distinction/ a difference


_____________________
Para 1

(b) breaking/ falling off




_____________________
Para 4

(c) satisfying/ to please




_____________________
Para 2

(d) learning





_____________________
Para 3

Rough Work: Answers written in the space below will not be marked.




Section – B (Writing)

B1.
You are Rekha/ Rahul of National Public School, Bilaspur. Being in charge of the 
cultural committee of your school, you are given the following letter by your 
Principal about an Inter-school Cultural Fiesta your school has to take part in. 
Write a notice in not more than 50 words, including relevant details from the letter, 
asking students to appear for selection. Do not give extra information. Put the notice 
in a box.








(5 marks)









Hill Mount School,

Bilaspur.


20 February, 2005


The Principal,


National Public School,


Bilaspur.


Madam,


Our school is conducting a cultural fiesta on the 26th of this month. The events for 
competition include music, dance and skit. We would appreciate if the students of your 
prestigious institution participate and make our show a grand success. Attractive prizes 
will be awarded to the winners.


Thank you very much,


Yours faithfully,


Gayathri Sundaram


Principal


B2.
You are Nitin Kapoor, who lives at house No. 20/A, Nehru Marg, Lucknow. Draft a 
telegram (in not more than 20 words) to be sent to your elder brother Mr. Ketan 
Kapoor, at 36 Linking Road, Mumbai – 54, informing him that your father is 
terminally ill and is 
insisting on the division of property amongst the brothers. 
Insist that he should come, as his presence is imperative. Also inform that the ‘will’ 
is required to be read in the presence of all the sons.



B3.
You are Natasha Sinha, an aspiring computer engineer. Using the ideas from the 
Unit: 
Science given in the MCB, and your own ideas, write an article on how a 
computer can help you in your education and how it can make a work easier in 
offices, banks, restaurants, shops and reservation counters. Write the article for 
your school magazine, ‘The Junior Scientist’ .
B4.
The bar graph depicts the various career choices open to youngsters. Write a report 
on ‘Career Preferences’ using the facts given in the graph and ideas from the Unit: 
Education. Also state which are the popular careers and why students opt for them.












































































































































































































































































































CAREER PREFERENCES
SECTION – C (GRAMMAR)

C1.
Given below is a conversation between two friends regarding their test in English. 
They 
are discussing the question paper. Write the answers in your answer sheet 
against the correct blank number. Do not copy the whole sentence. 
(4 marks)

Veena
:
Mayur, what do you think of the English question paper?

Mayur
:
It wasn’t very difficult but it was lengthy. I left questions worth 10 marks.

Veena
:
I haven’t left anything but I will lose marks because of my poor spellings.

Mayur
:
I found the writing section interesting. I think I would be able to score in the 
                        range of 70%.

Veena asked Mayur (a) ________________________________________________________.
Mayur replied (b) _____________________________________________________________.
Veena said (c) _______________________________________________________________and Mayur added (d) ____________________________________________________________.
C2.
Read the following News Reports and fill up the blanks with suitable words.











 
(4 marks)
MP ASPIRANT TIED TO PM BASE PLOT

New Delhi, July 2: Hazi Gulam Muhiuddin was arrested last night for a (a)__________ to     attack  the Palam Air Force Base. Prime Minister Mr. Manmohan Singh was supposed leave for Scotland from this Air force base, sources said today.
RIO URGES NAGAS TO BE SELF- RELIANT

Kohima: Nagaland chief minister Neiphiu Rio today(b)--------------people to bring back a healthy work culture to the state and reduce its(c) ------------------------------central aid.
TOP COP ARRESTED IN COCAINE CASE

Mumbai: An assistant inspector of the airport police station here (d)---------------------------

for allegedly helping a Provogue employee to dispose of cocaine vials seized from him earlier.

C3.
Given below is a graph showing the weather conditions of Mumbai and Delhi. Using the information fill in the blanks in the paragraph given below with one word only. Write the answer in your answer sheet against the correct blank number. Do not copy the whole sentence. 





  (3 marks)

Delhi has extreme of climate where  in the month of January the temperature goes as (a) _______________________ as 90C .On the contrary, in the month of June the temperature (b) _____________________up to 400C. (c) ___________________ 
Mumbai has moderate climate. Temperature does not rise(d) __________________ 340C 
(e) __________________ during the peak summer months like May and June. During winters, the weather is pleasant and temperatures are in the (f) ___________________ of  20-250C.
C4.
In the following passage one word has been omitted in each line indicated. Write the 
word along with the words that come before and after it and underline your 
answer.








(4marks)


Some people seek forgiveness because mean it.



(a) _______________


Some seek forgiveness to buy time that they may


(b) _______________


commit crime. Forgiveness implies humanity and


(c) _______________


compassion to who sincerely realize and accept



(d) _______________


their mistake, with the intention of repeating it.



(e) _______________


Those who make mistakes just they know that there


(f) _______________


is forgiveness are crooks. This is height of 



(g) _______________


selfishness. No wonder, the expression, “When human 

beings stoop to the level of animals, they behave


(h) _______________


like animals, they behave much worse,” holds true


C5.
The following passage has not been edited. There is one error in each of the lines. 
Write 
the incorrect word and the correction in your answer sheet as given below 
against the 
correct blank number. Remember to underline the word that you 
have supplied. 







(4 marks)

More people conveniently adopt religion,




(a) _______________


where as to hold God responsible for




(b) _______________


all their misdeeds.. The criminal like Adolf Hitler,



(c) _______________


also seeked the blessings of priests. The priests



(d) _______________


lend religion sanction to politicians. They




(e) _______________


then lawfully assume political power and by



(f) _______________


turn, protect the priests. The priests, however



(g) _______________


bless the politicians twice over. What they come 



(h) _______________


up achieving, is exploitation of the masses.
SECTION – D (Literature)
D1.
Read the extracts given below and answer the following questions. Write the 
answers in your answer sheet in one or two lines. Remember to number the answers 
correctly. 








(4 marks)


May the poison purify your flesh


Of desire, and your spirit of ambition,


They said, and they sat around.

(a) How can poison lead to purification?






(2)

(b) Who are ‘they’ and why were they sitting in the poet’s house?



(2)

D2.
Read the extracts given below and answer the following questions. Write the 
answers in your answer sheet in one or two lines. Remember to number the answers 
correctly. 








(4 marks)



“Dearest frog”, the nightingale


Breathed: “This is a fairy tale –


And you’re Mozart in disguise


Come to earth before my eyes”.

(a) Name the poem from which the above lines have been taken and the poet’s name.
(1)

(b) What did the frog say to entice the nightingale?




    
(1)
(c) What traits of the frog’s personality are revealed in the poem?


    
(2)

D3.
How does the frog make use of the bird’s talent for his own gains? Your answer 
should not exceed 100 words.





(5 marks)

D4.
Read the extracts given below from “A Christmas Carol” and answer the following 
questions. Write the 
answers in your answer sheet in one or two lines. Remember to 
number the answers 
correctly. 





(5 marks)


“A poor excuse for picking a man’s pocket every twenty-fifth of December”.

(a) What is the ‘poor excuse’ being talked of here?





(1)

(a) Who is being accused of ;’picking a man’s pocket’? Is it true?



(2)

(b) What made Scrooge turnover a new leaf?





(2)

D5.
The postmaster realizes his mistake but by then it is too late. What mistake has the 
postmaster made? How does he realize it?




(4 marks)
D6.
After the partition Babuli returns to the city and tells his wife regarding the decision 
he took. She hears him and later decides to write her diary. Write Babului’s wife’s 
diary entry in about 150-175 words.







(8 marks)



MESSAGE ……………………………………………………………………………………...


………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….SENDER’S NAME





75%





MEDICAL				





(Not to be telegraphed)


Place, date


SENDER’S ADDRESS ………………………………………………………………………..





ENGINEERING				





Address of the


 Addressee			……………………………………………………..................


__________________	…………………………………………………………………..


__________________	…………………….. Pincode …………………………………..


__________________





ADMINISTRATION				





BANKING				





MANAGEMENT			





TEACHING IN UNIVERSITY			





TEACHING IN SCHOOL			





55%





50%





40%





40%





35%





35%





JOBS ABROAD			





25%











